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SECTION - A

i) General Awareness

A book “Third Pillar” authored by
(A) Shaktikanta Das

(B) Manmohan Singh

(C) Raghuram Rajan

(D) None of the above

Irani trophy, a trophy associated with
which one of the following sports event
in India ?

(A) Badminton

(B) Cricket

(C) Football

(D) None of the above

What is the chemical name of Bleaching
powder ?

(A) Calcium bicarbonate

(B) Sodium chioride

(C) Calcium hypochlorite

(D) None of the above

Kala azar or Visceral leishmanidgis
caused by

(A) Virus

(B) Bacteria

(C) Protozoa

(D) None of the above

Which of the following-CGeuntry is not a
member of BIMSTEE association ?
(A) Banglades

(B) India

(C) SrilLanka

(D) None ofthe above

With referénce to share market, share
price whatis “SENSEX” stands for ?
(A) SENSitivity indEX

(B) SENSational indEX

(C) SENSational share market indEX
(D) None of the above

7. Every year Sadbhavana Diwas is

10.

celebrate on

(A) August 20

(B) September 22
(C) March 3

(D) None of the above

Which of the following is the tallest
man-made structure in the world ?

(A) Fazilka TV Tower, India

(B) Burj Al Arab Jumeirah,UAE
(C)yBurj Khalifa,UAE

(D) *None of the above

Recently which of the following app was
launched by Agriculture Ministry to help
farmers to hire farm related equipments
with affordable prices and cutting edge
technologies at their door steps ?

(A) Farm Bee

(B) Kisan Yojana

(C) Uber for Tractors

(D) None of the above

Which of the following statement/s
given below is/are true about Samagra
Shiksha-Jal Suraksha scheme of
Government of India ?

1. It creates awareness about water
conservation among all school
students in the country.

2. It helps every student to save at
least one litre of water per day.

(A) 1only

(B) 2 only
(C) Both 1and?2
(D) None of the above
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11.

12

13.

14.

15.

The Judges of the Indian Supreme
Court appointed by

(A) Prime Minister of India

(B) President of India

(C) Chief Justice of India

(D) None of the above

In which of the following city firstever
National Museum of Indian Cinemas
recently inaugurated ?

(A) Chennai

(B) Mumbai

(C) Bengaluru

(D) None of the above

What is the main objective of UNNATI

programme of Indian Space Research

Organization ?

(A) Capacity building programme on
nanosatellite development

(B) Women empowerment programme

in rural areas through satellite)

applications
(C) Rural development programme
through satellite apphcat@;}s
(D) None of the above ‘r‘
In which one of the followm states in
the country Civil AviatignzsMinistry has
launched the first Gl (Geographlcal
Indication) store ?
(A) Telangana ¢
(B) Goa
(C) Punjab
(D) None of*—thé above

In whnch»gne of the following states of
India T‘a?épur nuclear power station is
located 7

(A) Rajasthan

(B) Tamil Nadu

(C) Maharashtra

(D) None of the above

-

FRESHERS NOW

TR T T ] —

16. What is the capital of Uttarakhand ?
(A) Raipur
(B) Bilaspur
(C) Dehradun
(D) None of the above

17.  UNESCO recently announced which one
of the following cities will be the World
Capital of Architecture for 2020 ?

(A) Rio de Janeiro

(B) Shanghai
(Cy~Amvitsar

(D). "None of the above

18:First ever printing press brought to India
by
(A) French
(B) Portuguese
(C) Dutch
(D) British

19. Which of the following software giant
has announced the launch of InfyTQ a
learning app for engineering students ?
(A) Wipro Limited
(B) TATA Consuitancy Services
(C) Infosys Limited
(D) None of the above

20. What is “EPIC” stands for, which is
voter's identity card issued by an
- Election Commission of India ?
(A) Electoral Photo Identity Card
(B) Election Photo Identity Card
(C) Elector's Photo Identity Card
(D) None of the above
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ITEE 6 TS R
(A) AT

(B) feretrargy

(C) T

(D) 3% H & HIE T

Fafafea & & fora Tt 7t 3 2020
&t fva Fregeren TSEHT S9H i =won
HR?

(A) far €t SR

(B) ¥

(C) 3yaHy

(D) 3IF HRHE T

T T Y BTG (gzoTTera) e
(A)_S6=

B) T

{ (€)=

20.

(D) I

Ffrifeht farnfat & for freor oy
InfyTQ %t YT i drgen Ffeafiaa o
T foFg iR SEe A & 7

(A) T feafies

(B) TR Faaed! gfaad

(C) Fwiftm fafies

(D) 3 | A H1E AW

“EPIC” forges foru 2iman 2, St st
TS AR FR S R 7Y AR e
AN TR 7

(A) TR B AT FE
(B) IOEH HIAT ZefId g

(C) Toraed FId gefed) #1e

(D) I H ¥ FS T
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ii) General Intelligence and Reasoning Ability

Vinay remembers that his brother
Anupam’s birthday is after 20" of
August but before 28" of August, while
Rita remembers that Anupam’s birthday
is before 22" of August but after 12t of
August. On which date does Anupam’s
birthday fall ?

(A) 20t August

(B) 21%! August

(C) 22" August

(D) Cannot be determined

Which interchange of signs will make
the following equation correct ?
(16-4)x6+2+8=30

(A) +and- (B) +and x

(C) —and + (D) +and +

A child is looking for his father. He \\‘}iént'*“
90 meters in the east before turning
to his right. He went 20 meters-before
turning to his right again to ipgk.for his
father at his uncle’s plage(30‘meters
from this point. His father Was hot there.
From there, he went 100:feters to his
north before meeting-his father in a
street. How far did_fhe son meet his
father from the starting point ?

(A) 80 meters, \ (B) 100 meters

(C) 140 meters. (D) 260 meters

Which gamtjai'will come in the last in a
telephone-directory ?

(A) Mahindra
(B) Mahender
(C) Mahendra
(D) Mahinder

25.

26.

27.

28.

29.

(C) 24

Given the sequence,

BCM@NET2Y6SaQ$7*xW#
Z3UE%AA4.

How many symbols are there in
the above sequence each of which
is immediately preceded and also
immediately followed by a vowel ?

(A) Nil (B) One

(C) Two (D) Three

Thestotal number of digits used in
Awmbering the pages of a book having
866 pages is
(A) 732
(C) 1098

(B) 990
(D) 1305

A monkey climbs 30 feei at the beginning
of each hour and rests for a while, then
he slips back 20 feet before he again
starts climbing in the beginning of the next
hour. If he begins his ascent at 8 a.m.,
at what time will he first touch a flag at
120 feet from the ground ?

(A) 4p.m. (B) 5p.m.
(C) 6p.m. (D) None of these

How many times in 24 hrs. the hands of
a clock are in straight line but opposite
in directions ?
(A) 20 (B) 22

(D) 48

Which year will have the same calendar
as that of 2012 ?
(A) 2020
(C) 2025

(B) 2040
(D) 2031
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;qga”ia'g‘;:ﬁ@ﬂzg:{%ﬂgg BCM@NET2YB6SaQS7+WH#
&1 SHfed 22 3T & TEA ? WY GUERAA
12 &S & 918 R | STIH T ST i e forg 08 & 76 g Teet s i
fra A TEae 2 e Uh W AR ?
iy A) FEE  (B) @
(B) 213 © i
(C) 22 37TEd
(D) Trerifea = foran s aeman 26. 3663@@@3@@%’@«@#@1
22, <o A e e P | T Tt g i o e 8
GEHYERTOT <l Fet T 2 (A) 732 (B) 990
(16-4)x6+2 +8=230 (C) 1098 (D) 1305
A) = 3l- B) +3Mx <l )
()-a:hu :D;jaﬂ“ 27. 4@ 9 YAF 5 I YR d 30 $i2
A . T 2 3 S 3 3w e & R
23, Toaw A NAA G 1T | eran 20419 snend, sed ved
A e 90 WU H S R | TE GH: AGHSA (>, B e R 2 3 19
e 0 i s m g A so gy o ik iheill,
ST T 6 T I T B | S Raraet T8 G B TG [E HA T TS
T S | 7=l 3, % o e @ fem A g 120 Bz 39w @S 1 fore wwa gam ?
%‘ﬁmﬁmm% (A) 4p.m. (B) 5p.m.

KU ? )

& C) 6pm. D Y s T
onade e (C) 6p.m (D) ¥ Hig
(C) 140 e (D) 28Q et 28. 24Ei€iﬁﬁjd=ﬁam{mu:cﬁﬁ¢§ﬁm

24, @mmﬁmmmmﬁ T & it wig ferwdra femadt 4 € 7
@ ? . (A) 20 (B) 22
(A) Mahindra ™ (C) 24 (D) 48
(atfgnansng 29. form ad =1 d=TT 2012 % SR ?
s (A) 2020 (B) 2040
(%) fashinger (C) 2025 (D) 2031
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30.

31.

32.

33.

34.

35.

Find the missing number from given
alternatives.

ah

6561| 81
(A) 9 B) 18
(C) 24 (D) 27

Choose the correct alternative that
will continue the same pattern and
replace the question mark in the
series.

3, 7,:23,95, 7
(A) 62 (B) 128
(C) 479 (D) 575

Choose the missing term out 6f the
given alternatives. 1

WEB, TGD, QHG, ? )
(A) NIJ (B) NIK -
(C) NJK (D) Ol

Income is related to profit in the same
way as expendituretis-related to

(A) Balance (B) Loss

(C) Sale (D) Receipts

Ina certain code language, BEAT is written
as YVZG, ther'the code of MILD ?

(A) ONRW (B) NOWR

(C) ONWR (D) NROW

In a certain code, RAIN is written as

8$%6 and MORE is written as 7#8@.
How is REMAIN written in that code ?

(A) #@7%%6 (B) #@8&$%6
(C) 7@#%%6 (D) 8@7$%6

36.

37.

38. (

39.

40.

<
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Pointing out to a lady, Rajan said, “She
is the daughter of the woman who is the
mother of the husband of my mother.”
Who is the lady to Rajan ?

(A) Aunt (B) Daughter
(C) Sister (D) Sister-in-law

There are 5 persons. P’s father Q is B's
patemnal uncle and A’s husband M is P's
patemal uncle. How is A related to B ?
(A) Daughter (B) Son

(Cy~Aunt (D) Mother

Six students A, B, C, D, E and F are
sitting in the field. A and B are from
Delhi while the rest are from Bangalore.
D and F are tall while others are short.
A, C and D are girls while others
are boys. Which is the tall girl from
Bangalore ?
(A) C

©) E

(B) D
(D) F

A,B,C,D, E, Fand G are sitting in a
circle facing at the centre and playing
cards. E is neighbour of Aand D. G is not
between F and C. F is to the immediate
right of A. Which of the following does
not have the pair of persons sitting
adjacent to each other ?

(A) BA (B) CB

(C) DE (D) GD

in a queue of boys, Sandeep is 10t
from left and Lalit is 5 from right. The
places of Sandeep are interchanged.
If the new position of Sandeep is 15
from left, then the new position of Lalit
from right is
(A) 10t

(C) 12t

(B) 11lh
(D) 13t
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(A) 9 (B) 18

(C) 24 (D) 27
31. 9% el foeey gie s 34t T =i

WY T & SR s@ern 8§ ywfaed #
yfaeenfua st 21
3,7,23, 95,7
(A) 62 (B) 128
(C) 479 (D) 575

32. fou e fospeat § @ gw v g
WFB, TGD, QHG, ?
(A) NIJ (B) NIK
(C) NJK (D) OIK

= q gafea 21 A\
(A) 99 (B) T &
(C) feshh (D) el

U 2 W1 # BEAT 3t YVZG foran
1R, @ MILD 31 F2 2

(A) ONRW (B)/NOWR
(C) ONWR  ,“D) NROW

33.

34.

35. TH 2 H, RAIN %I 8$%6 31 MORE
=l 7#8@ foran s B 3¢t e #
REMAIN =i ferar smam

(A) #@7$%6  (B) #@&$%6

(C) 7@#$%6 (D) 8@7$%6

36.

37.

38.

(A 39.

40.
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U 37 <hl ST SR o §Y T A

g1, “I8 W A @ gfa Y Avar H 9
RV 9% 3fitd ToH Y 9 At © 7

(A) g (B) T

(C) w& (D) @t

uia =afa §1 P fiar Q, B% 9= €

ANAFIfGM, PHE=TEI A BY

g ywR gafta § 7
(A) (B) &=
(C) =t (D) #man

®: T A B, C, D, ESR FEa |
3 T1A R B feeeht @ € s amehl
T9 dTaR @ | D AN F &« & a9
IR g 312 81 A, C 3t D wsfwaf
SSElh 3T dF &) dreit 8 Fal

JehI 8 7
A) C (B) D
C) E (D) F

A B, C,D, E, F 3R G &3 i 3IRqE@ FF
THFAH a3 e A AWM EA R eI E, AT
D& TS 81 G, FeRCHfadadi 21
F, A % gia and 8| frerforfiea & @ sm-wn
T —g8 & G -4y SIS g3 sAfeRd| H1
FHTEE?

(A) BA (B) CB

(C) DE (D) GD

g 1 & UfFa d, g and & 10497 R
¥ wifera ard @ s5af R | 9&a &1 e
3y H Tt fear smar ? | 9l g w=@
T EE ad 8 1547 ], 91 <] 4 @fea
=T 791 T 2
(A) 104f

(C) 12af

B) 113t
(D) 134l
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iii) Arithmetical and Numerical Ability

A takes 3 hours more than B to walk
30 km. But if A doubles his pace, he is
ahead of B by 1.5 hours. The speed of
A is (in km/hr)

10
(A) 5 Gy

20
C) 55 D) &
(©) O =

The age of a father is equal to the
sum of the ages of his 5 children. After
15 years, the sum of the ages of the
children will be twice the age of the
father. The father's age is

(A) 45 years

(B) 50 years

(C) 35years

(D) none of these

Ais thrice as good as B and is thereﬁge
able to finish a piece of work in 60-days

less than B. The time taken by-them if
they both work together is

(A) 15days (B) 22.5days

(C) 22days (D) none of these
A sum of money doubles itself in
10 years. The number of years it would
triple itself is
(A) 25 years
(C) 20 years
Which ameng the following is a
homogeneous differential equation ?
(A) 2xydy = (x3 + y3)dx =0

(B) (x3-3y?)dx+2xy=0

(C) y2dx - (x*—xy —y?)dy =0

(D) (@x—3y->5)dy—(3y—9x—-6)dx=0

(B) 15 years
(D) None of these

46.

47.

48.

49.

50.

In a survey of 1000 consumers it was
found that 720 consumers liked product
A and 450 liked product B. The least
number that must have liked both the
products is
(A) 270

(C) 170

(B) 100
(D) 450

A number which when decreased by
20 is equal to 69 times the reciprocal
of the number. The number will be
(A)L10 (B) 23

(C)-32 (D) None of these

Ratio between the girls and boys in a
class of 40 students is 2 : 3. Five new
students joined the class. How many
of them must be boys, so that the ratio
between girls and boys becomes 4 :5?
(A) 4 (B) 3

©€) 2 (D) 1

The average age of Ashok and Abdul is
45 years, the average age of Abdul and
Anthony is 50 years and the average

age of Anthony and Ashok is 35 years.
The age of Ashok is

(A) 25 years (B) 30 years

(C) 40years (D) None of these
A dealer buys 200 quintals of wheat
at Rs. 1,200 a quintal. He spends
Rs. 10,000 on transportation and storage.

He then sells wheat at Rs. 13 per kg.
Profit/Loss percentage will be

(A) 4%
(B) 2%
(C) 10%
(D) None of these
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iii) TSRO U SEATeHeR AT

41. 30fFfiaeA i AFI BE 3T ARG TId | 46. 1000 UTEh! % U Ga&w0r § 7€ IR 774 fob
& | 7ig e A SO ST T ST R efaT 720 TR 3 3T A 1 96 T af 450
8, A a8 B 1.5 921 310 fHhd a2 | 3 B IeR ) 06T AT | 98 =W wen
A fg (femft o ) 6 2 fSein QT Iedrel =t e Tk, 3 8
(A) 5 @ 90 (A) 270 (B) 100
e (C) 170 (D) 450
20
B ) e 47. oo e ot & 20 1 weR F AR TR
42. o e ) S 3 5 s ) A B A @“ﬁ‘fﬁ?“wmﬂmﬁ?ﬁ%l
& TS €| 15 391 &1g sroeil shi AT 1 A S
o i 31ry <6 ST @ | foa o6 e R (A) 10 ®) 23
(A) 4538 (C)\32 (D) T & IS e
(B) 509 48. .40 faenffai Yt w e # TefFal i
(C) 359% SrSehi o offd 1 I 2: 3% | 9 T
; \. Tereneff e & 3f 31w | 39 @ s 1%
B FHAEA 3 e # it AR s e
43. A, BRI 371 & St BE 60 T (| <1 371 ST 4 . 58 ST ?
GO # U i ) T o e § | 378, A) 4 ® 3
ST |19 HM & T, a1 AHT 6 G [
e ¥ (©) 2 0) 1
(A) 15%m B) 225%3 . 49. m;ﬂ%“ﬁgﬁa@%?&z
N5 37egel 3R 50
< = Ok HG¥ s of e v a1 35 8
44. T GOMRT 10 I H Gg B AR B <l HES IR
? 1 ge =t for 9 W o ot 5 i
ek (A) 25 (B) 30
(A) 25 ) 15t (©) 407 (D) ¥ & Fis e
©) 20 . ND) FHAFETE | 50. @:sﬁwﬁzooﬁaaﬁﬁnzooaﬁ@ﬂ;!i
N 3G 10,000 %. TREEA 3 TSR0 W
d6.  Treirien AT T ST | o 3wt o 105, 30 o R
(A) 2xydy — (3 +y3)dx = 0 ?;T'gj/ﬁ”m““m
(B) (x3-3y?)dx +2xy=0 (B) 2%
(C) y2dx = (x?—xy—-y?)dy=0 (C) 10%
(D) (2x—3y—>5)dy—(3y—9x—6)dx=0 (D) T8 & IS Tl

11-
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o1.

_An arithmetic progression has 13 terms

whose sum is 143. The third term is 5,
then the first term will be

56.

If a fair coin is tossed 10 times, the
probability of getting 6 heads is

105 _ 1
A —= B) ——
() 4 ® 7 R 510 ® 55
3
€ 9 D) 2 © =5 (D) none of these
52. If the vectors i-j+Ak,4i+2]+09k
Pa e 3.;1 of . 7k : o> S7. 7 books are to be arranged in such
Shilitdic and She2)s are e a way so that 2 particular books are
position vectors of 4 coplanar points, always at first and last place. The total
then 4 is equal to nymber of arrangements is
(A) 6 (B) 12 Ay 60 (B) 120
(C) -10 (D) —12 (C) 240 (D) 480
53. If2X—2%~1= 4 then xXis equal to 58. The angle between the vectors | —jand
A 7 (B) 3 =K
©) 27 0 9 A 21/ ® %
54. Roots of the equation 2x2 + 3x #7 <0 are © % (D) %
and B. The value of ap~" ¥8a~" is
(i) 2B (B)B%- N 59. Area of the region bounded by the
A parabolas y? = 6x and x2 = 6y is
7
(C) A (2)- "1914 (A) %53 $q. units (B) 8 sq. units
55. If a, b are any\2\teal numbers and

-12-

a > 0, b <0 then which of the following
is true ?

(C) 12sq.units (D) 22 sq. units

60. The probability that A speaks truth is
(A) %;% y , B speaks truth is 3 4 then the
probability of each contradicting the
(B) %% other is
w ® o ®) Va0
© 3%p
(D) none of these © Yoo (D) None of these
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51.

52.

53.

54.

55.

-13-

T quiad 3vft % 13 uz & Rmer am 143
? | TEU UE 5 2, d 98 92 2

(A) 4 B) 7 .

(C) 9 (D) 2

ﬂﬁﬂﬁﬂ?-hkﬁ, 47+2]+9R,
51+ +14k 3 30 +2]+ 7k 9

qegnaca fagett & foufy afewr €, dr A &
TER R

(A) 6 (B) 12

(C) -10 (D) —12

afe 2% — 2= 1 = 47 xX TR B
(A) 7 (B) 3
(C) 27 (D) 9

THIHT 2%2 + 3x + 7 = o%qﬂaaﬂtﬁﬁj
af™! + Ba” THF A B

(A 2 ® %

© % (D) -1 %4

gfe a, baﬁm—crféaaaw%aﬁt
a>0,b<0 a‘rﬁmﬁf&aﬁﬂﬁm

T e ?

A

ja4]
(=2

® 1.1
a b

o i

(D) ¥ @ K 7E

56.

S7.

58.

59.

60.

" A 2/

-
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Ife e Treaey et 10 s IoTen ST R,
ot 6 o 219 i gwre

0
105 B) ol

A 515 12

3

O (D) ¥ & =t e

7 GEII 1 30 Yo Saafedrd fara s

T 2 oy ek o @i sifom WM W

it | et < e g @
(A) 60 (B) 120
(C) 240 (D) 480

AF i~ 3N j—k F o= FHH02
B)

€ 51 O %

TEEH y2 = 6x 3N x2 = By W e wewr

(A) %Ssq. units (B) 8 sq. units

(C) 12sq.units (D) 22 sq. units

A, %ma‘fﬁm%aﬁ(s,%waﬁm

R, T ETH G G ) o1 =N e
TfireRar &
A ®) Y20

Cleatop (D) T & 9
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65.

-

FRESHERS NOW

MKG-XXIUTECHLIB/1T/06 1 0 0 00O O O
iv) Hindi Language and Comprehension
& v e Ay
gy T8t T R | 66. 3 FITET F1F T fran @ Jarwr
(A) ¥fE (B) wEEife TR ?
(C) & (D) fam (A) & W A
; (B) arfrdt gamet &
S Y158 |1 i TR SAmaren ol B L T —
EH afea | ©) FETH
(A) AT -.
(B) Faras 67. PR AW |(FEEE
(C) TraE )
(D) W (A) IR (B) o
LD (C) H (D) Teedelt
(8) , (A) TAHTA HET
®) = (B) el Tera F
(C) 1M & (C) Tam fowg % &
(D) (D) ot o wiferi g
- namﬁm*qaam__ﬁ_ 69. T ¥ HITEI o2 FILT T F
TN wigaTf 7} ?
(A) BWHT (A) W (B) a&d
(B) aTehTeR © (D) siftm
(C) Wi~
(D) @M 70 W+ A =
(A) TeTE
fe=l 1 fem &1 (B) #=™E
(A) = (B) ) ware
(C) IR (D) ur= (D) w==meA

-14-
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71, forw e @ st i afeemeq an B | 77, <o« =t o e |
1 ot vefid & 34 PRk (Far= F2q)
A ) s (B) e
(A) W= (B) 3m&H ©) 3 D) 4
(C) @few (D) i |
72. T Sl ey wE R 7 78. TUGAT IR HAF RO |
(A) ferge (A) =duH
(B) faget (B) Wi
(C) fagfu ©) T~
(D) forggeft (D) Adum o wifersaq 21
73. ﬁ?ﬁ?@ﬂﬁmﬁw 3 a1 | 70, et
(A) R (B) ZweH ) o e F) < g
(©) B (D) s - e T &
74 Tdd . wmwemd ) FEar AR @) v e
TG % 9gd
(A) HUERH (B) wal it
ki O, % %) wEar TR ) gd-ngs
75. HeQTT YIsE W 399 ? = &) o R ) s
(A) T : w oy i
() S AT % 9 @
(6)IF : B g & T @
= Mﬁaﬁ% ©9 ® 1 %
76. TH U R FAYH TR T & 7 OT @ 9 %
(A) foranfasiao
(B) WHagaIYH 80. ToREAT w158 1 Fjare Fed &
(C) Taomfesnes (A) Ter@a (B) forar
(D) fareor © frEer (D) f

5-
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v) English Language and Comprehension
st v SR Y
Fill in the blanks with appropriate preposition : | 86. ‘I was surprised to see his obstinacy’
81 livaiked b whathorhe (A) 1 wgs so surprised that he is
T obstinate
would come with us. B | isad WHGH | hi
(A) about (B) after (B) Ot\:;?; ;ct;rpnse when | saw his
C) of D) with
(€ o O) w (C) 1 was surprised for his obstinacy
82. The stoic is indifferent (D) None of the above
pleasure and pain. Select the sentence which is in past perfect :
(A) to (B) of N . |
(C) from (D) off 87. (A.)_._ He had visited Moscfyw
(B)."She has been staying here for
many years

Select the adverb particle from the following

(C) The patient has slept
sentences : ©) P P

(D) Mr. Sampath went abroad

83. They called the doctor in. CGhange the voice of the following sentences :

Eg; g;?; d 'V 88. The queen was given an affectionate
(C) the doctor geicome. i )
(D) in \ (A) An affectionate welcome given to
Y the queen

84. You must send them back: (B) An affectionate welcome had given
(A) you \ to the queen
(B) must send (C) Someone had given the queen an
(C) them affectionate welcome
(D) back N (D) The people gave the queen an.

affectionate welcome

85. Change the follawing sentencé into

i 89. People speak English all over the
complex :

“| have no monay to lend you” k. e 7
(A) | have dw Money that | can lend (A) English is spoken all over the
yol ~ world
(B) | can’t lent money for | have no (5} Engish 1= bewgingranpl over
S the world
(C) 1have no money so | am not going © QIL:::r IS WO ENGhN 18
to lend you P e '
(D} Nongiof the above (D) English is spoke all over the
world
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Choose correct one word substitute for the
following :

90. “A cruel or oppressive ruler”
(A) Glutton
(B) Chaos
(C) Tyrant

(D) None of the above

91. ‘A long walk usually for exercise or
pleasure’.

(A) ramble

(B) stroll

(C) loiter

(D) none of the above

Select simple present from the following
sentences :

92. (A) |believe you
(B) She got up when the alarm clock
went off .
(C) She was shaking with anger as he
left the hotel
(D) She is eating

Fill in the blanks with appropriate words from
the given options :

The specific theory of relativity wa$:(93)

in a scientific journal atthe turn
of this country. Since that time Einstein has
become as (94) as-generals and
great political leaders. In one way; this is not

(95) because his theory caused a
(98) __ Iiipi(l Y
93. (A) edited ":j-'“%)”"r’eieased
(C) published (D) opened
94. (A) well known
(B) happy
(C) pleased
(D) generous

-17-
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95. (A)
(B)
(C)

(D)
(A)
(B)
(©)
(D)

Select the part of the sentence which has an
error :

shocking
surprising
pleasing

none of the above

96. change

evolution
revolution
reformation

97. We had been to Delhi last week.
(A) we hadbeen
RN
(B) to Delhi
(C) lastweek
(D)«-tio error

98. She t;as been waiting since four hours.
#¥A) she has been
L " 4B) waiting since
(C) four hours
(D) no error

Choose the correct synonym of the word
underlined in each sentence from the
alternatives given below :

99. He thought that the Dutch were a parcel

of avaricious men.
(A) happy

(B) smart

(C) greedy

(D) lazy

Everyone thought that it was a judicious
remark.

(A) thoughtful
(B) sensible
(C) witty
(D) cruel

100.

-
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SECTION-B
Post Specific Subject-Related Questions
101. In India the popular network agencies | 107. RecentlyMHRD, Govt. of Indiaintroduced
in University Education Research is NIRF for assessing performance of
(A) xx@emetin (B) xx@edu.in Educational Institutions. NIRF means
i ' (A) National Institutional Ranking
102. Currently the popular applications in (B) Eﬂ:ggﬂ;;shtute Rating
social media are (C) National Institutional Ranking
(A) WhatsApp (B) Facebook Forum
(C) Twitter (D) All the above (Dy~National Institut_ionai Rating Forum
- A : 108. Aa-ndia, the Technical Education is
103. Currently, which mode is used popularly approved and moderated by AICTE.
for fund transfer ? ““AICTE means
(A) Googlepay (B) Paytm (A) All India Centre for Technical
(C) NEFT (D) All the above Education | .
( (B) All India Council for Technical
104. Currently, the money withdrawal (in)] Education
: Education
means N (D) All India Committee for Technical
(B). Central Ba.nking ngit?"* 109. Like AICTE, the body for approving or
(C) Core Banking Service moderating Medical Education in India is
(D) Central Banking System (A) MCI (B) IDA
(C) RGUHS (D) AlIMS
105. InIndia, the popularnetwork which has ) i
lib o 110. The National Repository created for
i oSS Electronic Resources in India is
(A) ADINET (B) HELINET (A) National Digital Library
(B) National Resource Centre
(i DELNEN ok (C) National Library of Digital
106. InIndian‘University System, the popular Resources i
body for B oditbions (D) Natlongl Institute for Digital
Repository
(A) NBA :
(B) NAAC 111. The type of connectivity options provided
by Internet Service Providers are
(C) NIRF (A) Dial-up (B) Leased lines
(D) None of the above (C) VSAT (D) All the above
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AR -9
uree Wit fawa - dadt o

101.  wRa | faraforre e sipuam A wfeg | 107, 2@ € 4, 9id 90N THea e 3 i
Yook aAfirr 2 - wq‘féaﬁmmﬁstgarm%gmwga
31 | NIRF =1 37ef @

(A) xxx@emet.in (B) xxx@edu.in

(C) xxx@ac.in (D) xxx@nic.in

(A) AT SEERAE o e
(B) e st e buash

102. wif¥rrer Hifean & s & Sftg, SIgsRm & (C) AYHet SRS Uk S
(A) =REE () W (D) R RS T i
o 108. 9 #, Feb-{iieh e AICTE gRT 3gwifea
© ﬁ‘m , o) ﬁwﬁﬁﬁaﬁﬁ%IAICTEﬁW%
103. & @ ¥, faftr s7avon /g amue w9 @ (A) G 3 S B SR
B aTen qlieh 2
S\ USEH
(A) T (B) udeH B) e sfem Fisfoe v fma
(C) A (D) S &t e
104. 3TV, WITH & & e didied & (C) ifet SFean HHfter it 2ferepet
e & o R | e o od &S T
(A) R ST Hiegee “ (D) i 3fean Hwd) B e
et g | i wiifa, Faferca foam = ya
(C) FrdfHm affy 109. AICTE Td, &1 =Rl YRd
: , IHifeq a1 wafia @ aren e @
(D) Hgw difm fereem Q (A) MCI (B) IDA
105, W, Ao e g | () RGUHS (D) AIIMS
I FEIH R - 110. 9RA H Joiagii=eh QETEHl o SHET T
(A) ADINET (B) HELINET ??ug‘fﬁﬁ
(C) DELNET + (@) MANLIBNET ®) WW%
106. Wty favafericra yomeft #, wmrar =g (C) Tsiea wamami &1 U T
ARl e R (D) fefrea #iv 3g Ui Hem
(A) NBA 111, 3T W& AT 0 399 FqC T
(B) NAAC FAfaefadt fashodt o1 yer 2
(C) NIRF (A) SHEA-34  (B) dive @gH
(D) I &8 FE (C) VSAT (D) I ot

-19-
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112.  RFID technology primarily used in

113.

114,

115.

116.

117.

- libraries for
(A) Security

(B) Transaction
(C) Inventory
(D) All the above

ISBN and ISSN standards are assigned to
(A) Serials and books

(B) Books and serials

(C) Books and videos

(D) CDs and videos

Study cubicles/carrels are normally
created or meant for

(A) Students

(B) Public

(C) Women

(D) Research scholars

Inspection or scrutiny of findneial
transactions in libraries is callgt”)

(A) Budgeting (B) Valuation

(C) Accounting (D) Auditing

In Library Budget Fund fund
cannot be used for athier purposes.

(A) Recurring ~~(B) Non-recurring
(C) Restricted. \, (D) Encumbering

,takes items of expenditure
for Iibra_f-it-_iéi-‘ as data input for fund
allocation:

(A) Method of details
(B) Per capita method
(C) Principle of economy
(D) Library budget

118.

119.

120.

V2],

122

123.

124.

125!

(C) " Vidyamitra

-
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Which fund of library budget takes

~maximum share ?

(A) Books

(B) Joumals

(C) Databases

(D) Equipment and maintenance

The environment that allows accessing
e-resources is

(A) LAN (B) WAN

(C) Wi-Fi (D) All the above

The ETD repository developed by
INFLIBNET is known as

(A)~Shodhsindhu (B) Shodhganga
(D) Shodhgangotri

NISCAIR was formerly known as
(A) DESIDOC (B) NASSDOC
(C) INSDOC (D) SENDOC

Which one is the real process gaining
knowledge ?

(A) Information — Knowledge — Data
(B) Data - Information — Knowledge
(C) Information - Data — Knowledge
(D) Data - Knowledge - Information

Which one is the first generation
computer ?

(A) Micro computer

(B) UNIVAC-I

(C) Super computer

(D) ENIAC

Which is the most important part of
computer terminal ?

(A) ALU (B) CPU

(C) CU (D) Output

Keyboard, mouse, scanner and cursor
etc. of computer are the

(A) Input devices

(B) Memory devices

(C) Output devices

(D) Storage devices


https://www.freshersnow.com

| 0O OO0 OO O

112. JEaapiedl 8 gfiE €9 8 90 6 qH
et RFID daten [ RRE
B 2 |

(A) wfersfer
(B) Il

(C) weqgsht
(D) 3% ot

ISBN 37 ISSN A& i fiu
EIGES

(A) Hifces R feamw
(B) Toramet ik wiftaew
(C) Torare s difem
(D) Hieh i difea
T Fe

I |

(A) faeneff

(B) SHa

(C) wiwemd

113.

114, o SHIRIG: ST

(D) I@uEFAl -

115, Wﬂﬁﬁﬂ?ﬂawmmm

FEA B

(B) ‘13""*_"

(D) TEIulE

g A R fifrem

Iewat & fore wam & foma.sm wekan |

(A) Irmafd (B} h-armafd

©) s Qs

117. U= FwE =
fes o g < T e S |

(A) aafén
(C) &@l

116.
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e geaeer e ffr srfeream s
AR ?

118.

119. g;q;htﬂﬁhﬁ ~ T 7% T I STgHfd
(A) LAN (B) WAN

(C) Wi-Fi (D) 3 ot
INFLIBNET g1 fa%fo@ ETD &1

FET € | :
(A) Tygfay (B) T
(C) Temnfi (D) e
N|§g:ﬁm?t@ﬁ -
1
(A)/DESIDOC  (B) NASSDOC
A¥C) INSDOC (D) SENDOC
122y, e aratas ST i @ ?
(A) ~FH-3The
Tohe ~gaaT-g=
() %aﬁmﬁ—m
(D)~ —IH -
i1 WY e R R 7
(A) HIgH FHH
(B) UNIVAC-
(C) R HYA
(D) ENIAC
AT PRI 2 1 H Hea Qo ST & 7
(A) ALU (B) CPU
(C) cU (D) A=Y
?ﬁé, a3y, %ﬁm 3 FHER IS FHEX
|

120.

121.

123.

124.

125.

-
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126. - Arrange the following in increasing order
of their size.

1. Bit 4. Kilobyte
2. Byte 5. Megabyte and
3. Gigabyte 6. Terabyte

(A) 1,2,3,4,5and6
(B) 1,2,4,5,3and6
(C) 1,2,4,3,5and 6
(D) 1,2,4,6,5and3
127. Binary system of computers consists

(A) Twodigits  (B) Four digits
(C) Six digits (D) Eight digits

128. In which year, computer was used first

in India ?
(A) 1957 (B) 1958
(C) 1955 (D) 1960

129.  The internal memory units of computer are 4.

(A) ROM and RUM
(B) RAM and ROM
(C) RAM and WROM
(D) None of the above

130.  Windows, Linux, Unix etc. are gxdmples of
(A) System Softwares
(B) Application Softwares
(C) Softwares
(D) Operating Systems:

131. What s full form of DBMS ?
(A) Data Base Management Services
(B) Data Base/Management Systems
(C) Data Basé*Manager Services
(D) Data Base'Managing Systems

132. CDS/ISIS'software was developed by

(A) UNIDO (B) UNESCO

(C) UNAID (D) UNISIST
133. The augmented version of CDS/ISIS is

(A) Sanjay (B) SOUL

(C) CDS (D) Librarian

=22-
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134.  Match the following :

1. Transliteration i. List of
subject
headings
including cross
references

2. Tracing ii. A device which
performs input/
output
operations in a
computer

3. Aerminal iii. Record of

: headings for
additional
entries on main
entry

4. Thesaurus iv. Method of
writing text into

another

language
1 2 3 4
(A) iv i di i
(B) iv i i i
(C) iv i i i
(D) i v i i

135. Koha, EPrints are
(A) Open source softwares
(B) OAI
(C) Proprietary softwares
(D) Operating softwares

136. INFLIBNET’s annual conference is
Caliber and DELNET's conference is

(A) NACLIN
(B) NATLIN
(C) NATLIB
(D) NATCON
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126. Trafafaa i 3 AR & sgd w9 &
oISy

1. fae 4. Teiamge
2. W 5. HiTETEe 3R
3. e 6. 2ERE
(A) 1,2,3,4,536
(B) 1,2,4,5, 336
(C) 1,2,4,3,536
(D) 1,2,4,6,53R3
127. g i faomend woredt REciid
(A) @ i (B) 9 3%
(C) &: A% (D) &8 A%
128. WA H FYX el R fobw a9 & s
fora w7
(A) 1957 (B) 1958
(C) 1955 (D) 1960
129. g i Aiafh AU gHTsal 2
(A) w3
(B) WM
(C) w3
(D) 37 B &3 &
130. faers, ey, g sl Ei
RO R |
(A) Torew gigeam
(B) Uwellohe WG
(C) HiwRaT
(D) e fen S
131. DBMS %1 far s 8 L

(A) T AsTie Al
(B) Srred Adsiie ke
(C) semw A wfdas
(D) ey RS fameqm
CDS/ISIS AR
fmm S
(A) UNIDO (B) UNESCO
(C) UNAID (D) UNISIST
CDS/ISIS %1 Tafifd T 2

(A) G5 (B) SOUL
(C) CDS (D) wEfEH
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134. f=ferfiga =t fiemu

1. Teramo i, fow fident Y
gt wfafad
afgd

2. fem i, U gfR S
FR A T/
H132Ye =T
EaGIES

3. 2= iii. e yfafe w
Hfcfer afafeet
¥ fou shdsi =

, e
4. fomrE iv. T @l
s 3 o
fafy
i 23 #
(A) iv i i
®) iv i i i
©) iv i i i
©) i v i i
135. Koha, EPrints
(A) 39T T TR
(B) OAI
(C) T HRFR
(D) HATRfEn irea
136. INFLIBNET &1 aifis g=ie Caliber 2

3 DELNET &1 gieH 8

(A) NACLIN

(B) NATLIN

(C) NATLIB

(D) NATCON
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137. Off-Campus access is provided by 142. Who defined the Information Science
(A) Remote access server as “Information Science is the discipline

(B) Campus-wide network that deals with the processes of storing

“(C) Wi-Fi and transferring of information” ?
(D) LAN (A) S.R. Ranganathan
138. IP authenticated access facilitates users (B) Encyclopaedia Britannica
(A) Through login credentials (D) D.T. Foskette
B) Through suitable server path
® withou? login P 143. Wh(_) developed the term Information
(C) Through different paths Society ? }
(D) Through different places (A) M. A. Gopinath
(B) J. Martin
139. When DELNET was established as a (C) ..S. R. Ranganathan
agency ? (DyJ-H. Shera
(A) 1990 (B) 1992 _
(C) 1988 (D) 1995 144. ~What is formal communication ?

(A -print
140. Match the following organisations with )" Non-print mode of transfer

B
their year of establishment : {B) " Oral mode o transfer

(C) Printed mode of transfer
1 ngz)}: " 11'-‘3?[10-2 | (D) Verbal mode of transfer
g- [S)Eg%%% g }gg_} “Y145. Wh'ich agency drafted and irqplement_ed
4' NASSDOC d. 1952 ) natlonai.pohcyon library and information
: 1 2 3 4 : system in our country ?
) (A) Dept. of Education, Govt. of India
(A d b c a %4, (B) NISSAT
B a b c d N (©) UGC
(C)d c b a | (D) Raja Rammohan Roy Lib.
Pya d b c = Foundation (RRRLF)
141. Maich the following based on their : )
purpose and content§™ 146. S. R. Ranganathan enunciated five laws
1. NDL a.’ Consortium of library science in the year
2. NPTEL S\ \b. Digital (A) 1930
S N resources (B) 1931
3. SHODHGANGA c. Instruction (C) 1928
resources (D) 1933
4. SHODHSINDHU d. Theses :
\ resources 147. What is the main factor considered in
1 2 3 4 fourth law of library science ?
(A)a b ¢ d (A) Staff
B)b c d a (B) User
© c d a b (C) Time
(D) d a b ¢ (D) Management

-24-
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137.

138.

139.

140.

141.
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aﬂtﬁ—%ﬁﬂﬂgﬂ

(A) A Tgd HH
(B) Fou-aree Yeak
(C) Wi-Fi

(D) LAN

S sl T RS A

T g | Gl YoM Fa € |

(A) ST YA & HIeIH

(B) TS o fofTT IRy T T S WTeAw
(C) fafu= vt o mrem

(D) fafe= el & Aream

DELNET Usieft 2 &9 ¥ % S1foa g ?
(A) 1990 (B) 1992
(C) 1988 (D) 1995

frafefas @nedi it 375 o 9 &
Wﬁﬁlﬁ'{:
W -1
INSDOC a. 1970
SENDOC b. 1971
DESIDOC  c. 1967
NASSDOC  d. 1952
2 3

FURRRES TR

AT -2

ol o o

Q O T T
oo a0
(9 I <> B = E o I~

% I29Y o gHArANG ER T
Frafafaa =i faemse

NDL ERRERICE]
NPTEL b fefses gamem
SHODHGANGA ¢c. few gamrm

OO P

1
(A) a
(B) b
(C) c
(D) d

142.

143.

144.

146.

147.
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T g fogm &t g fog = foawa
B S0 G o ST S T i wfE
%mﬁa?%wﬁwﬁwﬁaﬁm?

(A) TH. AR, THIEA
CYRECIEE I IERIREEIEED

(C) V. wE. 3

(D) €. 3. wiehe

e g v w1 i faenfea foman 7
(A) TH. T, MY

(B) &.mf&A

(C) TH. AR, T

(D) ¥. @

it A = R ?

(A) FHTEOT T TR Hfsd TR

(B)- BRIV 1 s Yo

(C), EIHTRYT 1 Gfsd YR

(D) TAHIGRYT 3 AT Fehi

Il ToE 3 TR W H g 3R

I YOIt W A i Jrefid 2

FHif<a i ?

(A) e fasm, wRa @R

(B) NISSAT

(C) it

(D) T THHTEA T SATgsidl HiseyH
(RRRLF)

T . 3R, FARA AT Y e
Torg o ufe T et fefe |

(A) 1930

(B) 1931

(C) 1928

(D) 1933

eI {99 & 9 & | e g
F1e W e o man g 7

(A) V%

(B) Wate

(C) w13

(D) WEEH
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148.

149,

150.

151.

152.

-26-

“Save the time of user”, consider user in
(A) Within library premises

(B) Outside library premises

(C) Both (A) and (B)

(D) None of these

Fourth law of library science follows the

principle of

(A) Marketing of products and
services

(B) Customer satisfaction

(C) Customer behaviour

(D) All the above

Quality of library and information
services focus on

(A) Quality of service

(B) Quality of resources

(C) Delivery of right service on time
(D) All the above

The SERVQUAL model developed by.|
Parasuraman and his research team./

identified “TANGIBLES, RELIABILILY,
RESPONSIVENESS, ASSURANCE
and EMPATHY” as five dimensions of
service quality, which impact.greatly
on customers’ perception-of service
quality. The model depicts_

dimension as most impacting dimension
from customer perspegtives.

(A) TANGIBLES\'

(B) RELIABILITY,

(C) RESPONSIVENESS

(D) ASSURANCE/ EMPATHY

Taking cue$ from SERVQUAL model,
the TANGIBLES related to library are
(A) Library building

(B) Facilities and equipment

(C) Appearance of personnel

(D) All the above

153.

154.

1555

156.

1587

158.

-
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LibQUAL+, the adopted version of

SERVQUAL model for measuring service

quality in libraries was developed by

(A) Association of Research Libraries
(ARL)

(B) IFLA

(C) American Library Association (ALA)

(D) OCLC

Plagiarism means

(A) Verbatim lifting of passages without
crediting the source

To steal or theft of other's work and
<laim it as own

Paraphrasing the original work
‘Without any attribution

All the above

(B)
(&

(D)

'The software developed to check/verify
the plagiarism context is

(A) Turnitin

(B) Euphorus

(C) Plagiarism check

(D) All the above

The citation format or systems followed
in research papers is based on the
following style

(A) Chicago style (B) APA style

(C) MLAstyle (D) Alithe above

Govt. of India introduced GST in 2017
to replace earlier taxes. GST means
(A) Goods and Service Tax

(B) Goods and Sales Tax

(C) Goods and Systems Tax

(D) None of these

The factor that influences resource
sharing is

(A) Increased cost of documents

(B) Library space constraint

(C) Increased volume of documents
(D) All the above
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148.  “SAVET & 9 FERT YA 9T
CEREG R
(A) W%ﬁi
(B) JHdshieid CIRY
(C) (A) ¥ (B) M
(D) 3T & i3 el

yeqeterd fage & <hen frm
F Fm e |

(A) el SR Farai = fagum
(B) e ugfed

(C) TTEH FAEN

(D) I g+t

JEIRTad IR a1 Harsdi &l
___ﬁ%‘:%f?ﬂ@?ﬁ%l

(A) Ve

(B) GHTEHT 3l TUTaT

(C) &w¥ T HE Hal 1 gLah

(D) 3 asft

149.

150.

151. SERVQUAL Alsel

TR g fawfa

foram T i 3t SqEaE W A \

R 7 T e e B
E| #i.ara
ST} % 9 H G891 8, ST da e
3 TTeh! o gfReahIoT 9 TET TTE il 8
el & FeH A I Afed _ S
ged e el TR-Swiar 2|

152. SERVQUAL #igd & Tahd dd @74
TEIHTer A G R

(A) TETRTE fmior

(B) gfaur i IusHor -

(C) Ffent &1 TR

(D) 3 aft

MKG-XXI/TECHLIB/1T/06

153. LibQUAL+ TRl # Ha Uil H19

¥ SERVQUAL Higd &1 SITHRIT T

HER _ g Terenfia fopam mmam |

(A) TR Jerhcrl s THIRITEH (ARL)

(B) IFLA

(C) it JEqarTerd TRITAUEH (ALA)

(D) OCLC

wAforafen & ard @

(A) =R i TEEr: I3MI, fon wia
%1 9 feu

(B) T&U &, &1 H AT AT AT
T

(C) fore ferdli sferepm 3 vt el =l wiféra

(D) 3% u+ft

A el il SR /Tenfid i &
A ﬁ

(B)

(C) =Sy =3

(D) 35 asft

FIEIM TES § A T Fel

U Y&y a1 yunferat fefefaa feft

W AT B

(A) Rem st (B) APA St

(C) MLASET (D) S afi

I TR A Toreet o o TRl 3 o foll,

2017 % iugd 3 o | GST o 3l &

(A) TEH T Fiew 2

(B) TgH Ue How 2

(C) TeH Ue freeqw 5w

(D) T & FI TEl

T8 S S GETEH SIEaR ol T T
(A) SIS 1 aQ §H I

(B) JH&ICE WH A -
(C) TSIl il 9G! g AR

(D) 3% aft

154.

155.

156.

157.

158.
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159.

160.

161.

162.

163.

-28-

“Which of the following is first Indian

Storage Library ?

(A) SENDOC Library

(B) UGC Resource Centre
(C) INSDOC Library

(D) ICSSR - Inter Library Resources
Centre

The combined list of books, periodicals
and other documents of different
libraries is called

(A) Cooperative catalogue
(B) Shared catalogue

() cIP

(D) Union catalogue

When Mudaliar Commission was set up 2|

(A) 1952
(B) 1956
(C) 1950
(D) 1964

Who is responsible for first'Library
Legislation in India ?

(A) S.R.Ranganathar

(B) C.G. Vishwanathan

(C) A. Dikinson:

(D) W. Bordgh*

In which.gtat& of India, the first Public
Library Act in 1948 was passed ?

(A) Karnataka

(B) Madras (Now Tamil Nadu)

(C) Andhra Pradesh

(D) Maharashtra

164.

165.

166,

167.

168.

169.

-
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In India, Librarian’s day is celebrated on
(A) Aug.9
(B) Aug. 12
(C) Aug.5
(D) Aug. 19

Which organisation setup Library Advisory
Committee with S. R. Ranganathan as its
Chairman in 1957 ?

(A) Ministry of Education, Govt. of India
(B) UGC

(C)ACSSR

(D)NCSIR

‘What is correct about Mobile Library ?
(A) Moves from place to place

(B) Serves in many localities

(C) Library on wheels

(D) All the above

Who is responsible for starting DRTC
at Bangalore ?

(A) Ranganathan

(B) Gopinath

(C) Seetharaman

(D) Neelameghan

Another term associated with PERT is
(A) CPM

(B) HRM

(C) MBO

(D) POSDCORB

What course is offered by DRTC ?
(A) Masters Degree in Library Sc.

(B) Doctoral Degree

(C) B.LibSc. Degree

(D) Associateship
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159.

160.

161.

162.

163.

-29-

Frafefga o @ et wom ardig serm
e 8 7

(A) SENDOC TiaIed

(B) UGC HH1H+ &3

(C) INSDOC Jeaeid
(D) ICSSR — 3t Y&iehlcid HHTEH g

ot qeasreal i qeawl, smafis
ufeiel TR 3 TSt i wge g
__ wEdadie|

(A) FTRfET Feram

(B) HTH heTeA

(C) CIP

(D) I Ferr

Hafora ST % wfafsdd gat ?

(A) 1952

(B) 1956 .
(C) 1950 )
(D) 1964 '

JErl € 7 S

(A) T, AR, TEIEH S

B) . sft. favaem

©) uvRfFm O

©) g O

R 3 T I, S ISt eI
rferform 1948 3 wiftq Tk 7

(A) FACH

(B) Wt (¥ Afdierg )

(C) nagew

(D) WEmTSg

164.

165.

166.
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W H, gersheraTe s faw
I T S |

(A) 9 3T
(B) 12 3T
(C) 53T
(D) 19 3T

foha T1aa 3 1957 & wH. IR, THEE #
A T gU RIe FaTesh g
T ?

(A) TSrem ST, WG SR

(B) UGG

(C) |ESSR

(D). CSIR

TS T A w1 w7
NA) T TUH H U TH 7 ST 8

()(B) & T WA a1 @

167.

168.

169.

(C) ufedl W qehied
(D) 3 Gt

Sie ¥ DRTC WY %3 & fou =1
IEEt R 7
(A) THIEA
(B) Ty
(C) damm=
(D) Hremem

PERT ¥ 91 3601 715 &
(A) CPM

(B) HRM

(C) MBO

(D) POSDCORB

DRTC gRT 8T Hd Har S g 7
(A) TEaeTer fagm o wasra faft
(B) SR et

(©) . foreanga faft

(D) wwifieefim

-
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170.

171.

172.

173.

174.

Where India Office Library is located ?
(A) Great Britain

(B) USA

(C) India

(D) Nepal

The card catalogues which were
arranged in a specially designed
catalogue cabinet are now being
replaced by
(A) OPAC
(B) OPEC
(C) OPUC
(D) OPCA

One of the acquisition principles states
that “the resources acquired need

to reach large number of users at’}

cost.”

The main functions of Technical Section/
Processing include

(A) Classification

(B) Cataloguing,

(C) Both (A) and (B)

(D) None of theSe

Books migplaced on the shelves by
readers are restored. This work is
referred to as

(A) Shelf reading

(B) Stock verification

(C) Shelf rectification

(D) Reshelving

-
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175. Match the following :

176.

177.

1. Array a. One of the
cataloguing
codes

2. Acquisition b. Repository of
public or historic
documents

3. Addedentry c. Secondary
catalogue entry
of a book

4. AACR d. A series of
coordinate
subdivisions of
a class

"3y Archives e. Process of
procuring
resources tothe
library

1 2 3 4 5
(A) d e ¢ a b
B)e d ¢ b a
(C)a b ¢c d e
M)b a ¢ e d

A rubber stamp impressed on the
verso of title page giving information
conceming the records and processing
of each individual book acquired is
called

(A) Book stamp

(B) Process stamp

(C) Accession stamp

(D) Date stamp

The CIP entry found on
(A) Verso of title page
(B) Title page

(C) Verso of cover page
(D) Cover page
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170. 3fear s Aslt el R & 7
(A) e foreA
(B) quHY
(C) ¥d

(D) 9T

3 H1S Ferai It wan fafirea: feand g
U T FHfame o afer frum S, e
a0 yferenfia fru o R |

(A) OPAC

(B) OPEC

(C) OPUC

(D) OPCA

uF sAfenen Fam wEa R 6 orftmfia
o e waETgH Ted TUSEd
RIS T TEEHT AT 2

(A) =M

(B) #egH

(C) +H

(D) &

e ST TR 8 e e
(A) afieon ,

(B) T S

(C) (A) 3R (B) T

(D) ¥ & i3 T

ST T Tl G S TeH @ @
¥, [ a9 B qw
FHEAT ¢ |

(A) % Hfen

(B) &% dcaUA

(C) i Uaeftpeham

(D) Tifeam

-31-
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172.

173.

174.
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175. f=fafaa = ey
1. R a. HeTAr a4 &
i # 2
2. Aty b. HEwE A1
UfceTe
TSI R
3. Ffa Ul ¢ THgEE®
faetas Serain
& vfafe
4. AACR d. TR % HeE
N Iufavrel
T @l
5. areRigest e. T |
O & wfdFn
Csidiir2 o BicBico
(A) d e ¢ a b
B)e d ¢ b a
(C)a b ¢ d e
(D) b a ¢ end
176. ¥five 7% & I AR fad Tt &9 S
st & geift gea gar @ oft vl
e Jeash 1 TEER
FEA ¢ |
(A) T =™
(B) T ©W
(C) THRTH VM
(D) fafsr 2
177. ClPyfafe R e R
(A) e g3 ot It IR
(B) i T3

(C) aw Is3 #i Iet AR
(D) AT YeS
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178.  Which of the following are value added
information services ?

i.

ii.
iii.
iv.

(A)
(B)
(€)
(D)

Aggregator service

Referral service

Document delivery service
Research reports/market survey
reports

i and iii are correct

il and iv are correct

ii and iii are correct

i and iv are correct

179. “Women are more in library profession

than men.” Identify the variabie in the
statement.

i.
i.
.
iv.

(A)
(B)
(©)
(D)

180. Systematic sampling is

(A)

(B)

(C)

(D)
-32-

Men and women are independent
variables.

Men and women are dependent
variables.

Library profession is a dependent
variable.

Library profession s an independent
variable.

i and iii are correct
i and iv are correct
ii and iii are correct A
il and iv are correct N

{1.3
A type of probability Sarpling.

A type of non-propability sampling.

in which firsi\yhit is selecied
randomly. -~

Selected onuthe basis of specified
characterisfics.

i and iii are correct
i and iv are correct
il and iv are correct
it and iv are correct

Rl

" &
I

-
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181.  Match the following :

1. Hardware a. An electronic
device coated
with magnetic
substance

2. Hard disk b. A chip on
which central
processing unit
is mounted

3. Input ¢. Communicating
information to
computer

4-“Microprocessor d. One type of
computer

5. Microcomputer e. Physical unit of
~7 a computer
A
. 3 2 Y4 T8
(A) e a ¢ b d
B)a e ¢c d b
(C)e a ¢ d b
D)e a b ¢ d
182. Which of the following is not in the

group ?

1. ILA

2. |ASLIC

3. ALA

4. |ATLIS

(A) ILA (B) IASLIC
(C) ALA (D) IATLIS


https://www.freshersnow.com

178. Traforfiaa & @ S qeaafia
fami & 7 o
i. EEE Aa
ii. e dar
i, A gyat qan
iv. WW/WHaWW
(A) i 3 iii g &
(B) i M ivead &
(C) i 3 jii Tt &
(D) i3 ivad

“ AT AT § HigeTd TeN & 3T
21 39 % o = IEEI |

i. W@IWWEI%!

i, get o Afged fit=t 8

iii. JEIHC SEEH U i )
iv. JEIRICR! S9aETd UF o R |
(A) i3 iii v #

(B) i3 ivaEd§
(C) i 3N jii v &
(D) i A ivEdR § :

ORI TR & Q-
i, STFreRAT T ] U TN |
i, TR T O TR |
i, o et 3 AFow w1 A
S RTINS ol

v, Fifde PR o TR |
(A) i3iigd d

(B) iMivad &
(C) iii 3R ivad &
(D) ii 3 ivadt &

179.

180.

Oy

182.

-

FRESHERS NOW

MKG-XXIVTECHLIB/1T/06

181. f=fafaa =i fiemey

1. TSI a. g TEH
ARG &
ESEHIEERE]
2. Tefewh b. U v
dea mafm
PIECAC I G
3. ¥R C. Y % Gl
(N @ﬁ'ﬂm
4 TRERRE  d FERFE
N Th{
5T o WA A
' fers T
1 2 3 4 5
(A) e a ¢ b d
(B)a e ¢ d b
(C)e a ¢c d b
(D)e a b ¢ d

fefafer d e F-maEH A8 ?
1. ILA

2. IASLIC

3. ALA

4, IATLIS

(A)

ILA (B) IASLIC

(C) ALA (D) IATLIS
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183.

184.

185.

186.

Match the following based on their year
of establishment.

Part-A Part-B

1. ALA a. 1933

2. ILA b. 1876

3. ASLIB c. 1955

4. |ASLIC d. 1934
12403 4

(A) a b ¢ d

B)b a d ¢

{C) b a ¢ d

(D) d ¢ b a

What is the full form of IFLA ?

(A) International Federation of Library
Associations

Indian Federation of Library
Associations

International Fellow of Library
Academy

(B)
(C)

(D)
Academy

Which of the following is not in the grodap ?
1. Patents j
2. Standards ~
3. Research papers
4. Bibliographies N

(A) Standards

(B) Research papets.
(C) Patents <\ \_
(D) Bibliographes

N\

Reference sources are those
(A) Whichare expensive

(B) Which are used to find specific
information

(C) Which are large in size
(D) Which are read at home easily

Indian Fellow of Library Scienge

0 000 00 J

187. The following source provides public

188.

sector or Gowvt. information free of cost
1. xxx.gov
2. xxx.edu
3. xxx.com
4. xxx.org
(A) xxx.gov

(B) xxx.org
(C) xxx.edu

(D) xxx.com

Ready reference sources are those
which are
(A) Published annually covering
information about whole year '
(B) Published annually covering
information about previous year
@) Published annually
«\SW Published annually covering
" information about present year

189 National Science Library, National

190.

191.

- (B)

Science Digital Library, National Union
Catalogue are managed by

(A) INFLIBNET

(B) NISCAIR

(C) NISSAT

(D) CSIR

Which organisation is responsible for
assigning ISSN in India ?

(A) NISCAIR

(B) NISSAT

(C) Dept. of Publications

(D) UGC

LISA stands for

(A) Library and Information Science
Academy

Library and Information Science
Association

Library and Information Science
Abstracts

Library and Information Science
Administration

(©)

D)

FRESHERS NOW
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183. IO 99 o U W Feferiad = fiemsu |
qar- A q-B
1. ALA a. 1933
2. ILA b. 1876
3. ASLIB c. 1955
4. IASLIC d. 1934
1 2 3 4
(A) a b ¢ d
(B b a d c¢
C)b a ¢ d
g, b 8
184. IFLA &1 of faear e

185.

186.

-35-

(A) TRFE FelH AT TS TR
(B) 3R A s ens) vaRiuyHE
(C) 3TCHHE el 3T Trgedt wehert

(D) 3feaa el AT wgst wsw Chedt

Fefefeq S aR-m o AR ?
1. %2

2. HHE

3. IFEH SN
4. TR

(A) W

(B) ST TN
(€) Y&

(D) TR

A

(A) STHHAE.

B) jﬁim@wmﬁ%qmﬁn '

(C) ShAFRA=EE
(D) SER T A 896 ¥ &

187.

188.

189.

190.

YT, T A R

191.
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Frferiga g ardstie & a1 e ge
ﬁwwmﬁ% |
XXX.gOV
2. xxx.edu
3. xxx.com
4, xxx.org

(A) xxx.gov
(C) xxx.edu

R et

(A)

@ruaarﬁmﬁ%q@m?r%

B) Tiec gehsm o e wHa Feh et
LSRR o NGRE IS G

(C) T A VHRE FRSE

(D) I I HaCH T G Feh Al
9 B YRR R ST &

B URERIERS eI u@aﬁm%ﬁm—l

(B) xxx.org
(D) xxx.com

Tt fom S €
(A) INFLIBNET
(B) NISCAIR
(C) NISSAT
(D) CSIR

HH-TT T WRT 7 ISSN 71 F+a * fere
FEri E ?

(A) NISCAIR

(B) NISSAT

(C) wehH faram

(D) UGC

LISA # feRga ®a &

(A) gt U FHHTH HIEH TaheH!

(B) Tl Ue SR WIS TEITTe

(C) TR UE FHATH Y TRF

(D) TSIl U $HIHYH TIEH
LSRG

-

FRESHERS NOW


https://www.freshersnow.com

MKG-XXI/TECHLIB/1T/06

192.  Which of the following do not join the

group ? '

1. xxx.jpeg/ipg;

2. Xxx.png

3. xxx.tif

4. xxx.wmv
Xxx.jpeg/ipg;
XXX.png
XXX. WMV
Xxx.tif

(B)
(C)
(D)

193. Which of the following do not form the
part of group ?

1. xxx.docx

2. xxx.xlsx

3. xxx.pdf

4. xxx.ppt

(A) xxx.docx

(B) »xx.xlsx

(C) xx.pdf \
(D) xxx.ppt 7

What does SDI stands for -

(A) Standard Documenf:{ihdge

(B) Selective Dissemination of
Information n,""

Selective Dg}a;#xterchange
Standard Data Interface

&

194.

(C)
(©)

195. Who proposed Management Theory of
Human Relations ?
(A) A. Maslow
- (B) Henry Fayol
(C) E.Mayo
(D) Mc Gregor

AN

-
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196. What are the guidelines for planning of
a library system ?

(A) Five laws of Library Science
(B) Law of Interpretation

(C) BIS/Regulatory Standards
(D) Principles of Osmosis

197.  POPSI and PRECIS follow which type

of indexing systems ?
(A) Pre-coordinate indexing system
(B).( Indexing services
@) Indexing systems

L3

«D) Post co-ordinating indexing system

AN
198 Colon classification follows PMEST
pattern. In PMEST, T is denoted by

(A) ; B) .
©) . D) :

199. Web OPAC or online catalogue follows

which standard ?
(A) MARC

(B) DC

(C) AACR

(D) All the above

200. Which of the following is very popular
in book classification ?

(A) Dewey Decimal Classification

(B) Colon Classification

(C) Library of Congress Classification
(D) Bliss Bibliographic Classification
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192.

193.

194.

195.

57-

Freforfaa &8 H-w g & 7 a1 ?
xxx.jpeg/jpg; -
XXX.png

xxx.tif

4, xxx.wmy

(A) xxx.jpeg/ipg;

(B) xxx.png

(C) xxx.wmv

(D) xxx.tif

Tt T3P —an G = ST e T ?
xxx.docx

Xxx.xIsx

xxx.pdf

4. xxx.ppt

(A) xxx.docx

(B) xxx.xlsx

(C) xxx.paf

(D) xxx.ppt

SDI &1 fega &9 8

(A) WS SiagHe T |
(B) ¥ifaea feafufirm sk sTeitse
(C) dfFea g =

(D) Wed ol e
FrforRaa o @ e g = YauH faga
femm ?

(A) T T

(B) = %t

(C) 3. %4
(D) A% AW

o

D I ek

196.

197.

198.

1190,
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T R ST 4t RIS o feemeR
FE?

(A) g fogm % are fam

(B) =awE & e

(C) BIS/Frawme uHas

(D) TETIUE &1 fam

POPSI 31 PRECIS o s &t gaehis
UTTA} 1 AR AT & ¢

(A) TE-TH= GIH I Tl

(B) i FaTy

(C) eI oreral

(D) T GFhich JUred!
sreifem aefieol PMEST e ot srgen
FTh €, PMEST #, T &t q
AT SR |

A ; (B) ,

) . (D) :

9 OPAC I1 ATATE haralm HH-4

« W T STFET FAT & 7

200.

(A) MARC

(B) DC

(C) AACR

(D) 3o o+t
frfafaa # & FR-w1 g afie |
qga TRg e ?

(A) 3 TS STl

(B) reiferrm anfiemtor

(C) HidE afierul ol TErhierd

(D) o TewtT affeor
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Iefiqani & forg wewagul smew
13. This booklet contains 40 pages. 13. 38 qfea® 7 40 ¥ 2)
14. Directions : Each question or incomplete

15.

|
I
|
il

%144\ 137

|
|
o
o
-
rd |
= |
|
i, T
1.
18.
19.

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriaie
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

C®00

Wrong Method || Wrong Method [|Correct Method

el21ele] (olOefe] (6] oo

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the cifCle:of
the appropriate column, viz., A, B, Car D. If
you blacken (@) more than one circlesagainst
any one question, the answer will be treated
as wrong. '

In case of any discrepanéybetween the
English and Hindi versigns of'any question,
the English version will\be treated as final/
authentic.

Use the space for“rugh work given in the
Question Bookletrily and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. Allanswers mustbe indicated
in the Answer Sheet only.

14. Fidwm : 7% WA ya TS I T F 9
TR I S T HU IR T | T4 T
7 ot fREt T 1 ST 8 S 9 1 wd I
< YA HYA I T FL S ST I qfem
I TR @H A, B, C 91 D i et a1 e
-5 9§ FHeN (@) T 2 | (g
Iudtgant & fau @ meer el g
e fean wmy)

15.

16.

A7.

18.

19.

T W, A 3 o o e e 3T
w%ﬁ N = fom e e 9 i & |
foreitha s o e alie = e @

e
O®00

TS AT
0800

T qiehl
C®00O

Enic
0O®CO

rerefi &t o I EEgEs | e % e
fafRa s = |

TEA® T N Had UH & HE IW R | I
Tyfaa wiem 314iq A, B, C 31 D % Mersr @™
1 FIT (@) T ¢ | 3fe 39 Rt w % g
TF ¥ A TABR G 5 501 (@) @ 9
IR I T SR |

ofg el w7 &% fadl aen ansh aEmE § Wi
R o QU U

Hod B & 1Y Hael T4 95 § U 1 =W =0
T H | TR IR | w8 T W |

T0 et & e Tt I i T A E |
I HaE IR AR A A S

Go through instructions given in Page No. 1 (Facing Page)
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